MIAMIDADE MIAMI-DADE COUNTY, FLORIDA

- METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305)375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

MQ Windows, Inc.
4508 rte 117
Ste-Agathe-des Monnts, Qc Canada J8Z 2C 8

ScopPE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Series “70/83 & 70/114” Inswing Mahogany Wood French Doors-Impact Resistant
APPROVAL DOCUMENT: Drawing No. MQF70-3in, titled “S70/83 AND S70/114 Inswing Wood Doors”,
sheets 1 through 19, prepared by manufacturer, dated 4/4/00, bearing the Miami-Dade County Product Control
Renewal stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County Product
Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors

and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 00-0417.03 and, consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Theodore Berman, P.E..

NOA No 02-0129.10

Expiration Date: February 22, 2007
Approval Date: August 1, 2002
Page 1




AN H-H-00

14 MAX. 14 MAX. 14 MAX. 14 MAX.

S/ 4 f f f t +-51/4
4 5 T
51/4 51/4
7 0 -t
% @ %
= =
<+ <+
-— 1 — —* T
. R T
é é o~
s \\\ = >
i RN
P <
< <
= =
< <+
A | — 1
51/4 51/4
+— ———f—0
51/4 | 51/4
< B X /] K (D) SEEALSO 1 1% | 3
= PAGE 11 = ©
<+ / \ <+ Q
=< < ©
< z 0
< j <+
i V4 AN ]
< <
= = L]E
<+ <+
. \ \! - ©
T \ N 1. @
> >
< <
= =
< E \ | W / <
> < j’_‘bx’
< N <
s \ M / s
Al 3 N
<
= | ]l |3
51/4 51/4
-1
) ( { { ) '
5 1/4~4— } } i 1 51/4
14 MAX. 14 MAX. 14 MAX. 14 MAX.
72 FW & OSW

TYPE OF GLASS T Mt
Gl: SAFETY PLUS GLASS, 5/32 ¢l an.
-.060 palyester resin—.010 PET fiim 312 26.3
-.060 polyester resin — 5/32 ¢l an.
G2: LAMINATED GLASS, Saftex .090 312 23.0
1/4 cl. an.+ 0.090 +1/4 cl. an. '
WP: 173/4 RAISED WOOD PANEL 151 1/8 8.83

VIEWED FROM THE INSIDE

CONFIGURATIONS:
X, XX, 0/X, 0/XX
WOOD: Mahogany

14 MAX. 14 MAX. 14 MAX. 14 MAX.

S1/4t ¢ f 1 f b t=51/4
o a u
51/4 51/4
o }—— —«¢
X b X
3 , ® 3
< / \ <
% / \ %
<C
2 @- @ 2
< <
<C <C
= =
¥ Tz
T W W —t -
X z 0
= / =
<+ \ ’ W / <+
P4 <+ >
< ~ <
p= \ M / =
<+ f% <
<
: \ OD||
<+ \ <+
51/4 51/4
1— -—-—7———-0
) [ [ [ )
51/4 } } | } } 51/4
14 MAX. 14 MAX. 14 MAX. 14 MAX.

72 FW & OSW

N ot VD e
—~ -

DESIGN PRESSURE T

Acting Inward: +58 psf
Acting Qutward: -68 psf
- .

NOTE: | sizes noted are

maximum sizes. Sizes smaller
in width & height are permitted.

P

WINDOWS

OF EURCPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

ANCHOR FASTENERS

——Steel Bracket PDF-FS-05
Screwed to the buck frome and
to the door frame with #10 x
1-3/4 in. flat head screws
Min, embedment is 1-1/2 in.

—4 Screwed through the door
frome to the buck frame with

SERIES 70/83 & 70/114
INSWING
WOOD DOORS

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

#14 x 3 in. flat head screws.
Min. embedment is 1-1/2 in.

Drawing no.:. MQF 70— 3in

OPTIONAL:  Directly screwed
through the frame and through
the masonry with 1/4" x 3

Tapcon. Embedment is 1-1/2 in.
OR: Using the steel bracket

PDF-FS-05 screwed to the
frame with #10 x 1-3/4 screw
& screwed to the masonry with

Scale: Drawn by:
NONE £. Corbelil
Date drawn: Date revised:
07/28/97 03/15/00
File: Page:
Dadedin_1.dwg 1/19

1/4" x 2 1/27 Topcon screw.
Min. embedment is 1-1/2"

INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
corners and 14" max o/c.

ENGINEER:

SHIM SPACE:
1/4 IN. @ JAMBS, HEAD & SILL

HINGES SPACING

Two pins hinges # 2D-20 by
Simonswerk GmbH secured with
two #8 x 1-3/4" screws

MATERIAL:
BCS: Bichromated steel (open in)
SS: Stainless steel (open out)

PRODUCT RENEWER

38 complying with the Flodids
Buiding Code

Acceptanze Noo2-0129 10

Expiration Dutm.looj
Bm é—r—wa—.,

Mismi Dade Product Contro
Division

QTY/ MAT. DIST. DIST.

SASH FROM 0/C

CORNER  MAX.

4 0SS e1/8" 2T
LEGEND:

FW: FRAME SIZE, WIDTH

FH: FRAME SIZE, HEIGHT
OSW: OVERALL SIZE, WIDTH
OSH: OVERALL SIZE, HEIGHT

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE

DATE e o, ?@
o M,ﬂ_}é
PRODUSY CONTROL DIVISION

auiLo N3—T0DE  COMPLIANCE OFFICE
wcoeotance no, 00 04 (393

Hal-CO

O0- O0Lr7. O3



VIEWED FROM THE INSIDE

CONFIGURATIONS:
X, XX, 0/X, 0/XX

WOOD: Mahogany

LEGEND:

FW: FRAME SIZE, WIDTH
FH: FRAME SIZE, HEIGHT

OSW: OVERALL SIZE, WIDTH
OSH: OVERALL SIZE, HEIGHT

TYPE OF GLASS

MAX. PERI. [MAX. AREA
[in.] [sq.ft.]

Gl: SAFETY PLUS GLASS, 5/32 ¢l an.
-.060 polyester resin—.010 PET film
-.060 polyester resin — 5/32 cl an.

G2: LAMINATED GLASS, Saflex .030
1/4 ¢l. an.+ 0.090 +1/4 ¢l an.

WP: 173/4 RAISED WOOD PANEL

312 26.3
312 23.0
151 1/8 | 883

51/4 14 MAX. 14 MAX. 5 1/4 51/4 14 MAX. 14 MAX. 5 1/4 51/4 14 MAX. 14 MAX. S 1/4
! ! ! T ! 1] |

g —_— *+ * A T
51/4 51/4 51/4 51/4 5 1/4 | 5 1/4
S X > 5 N\ X S 5 N X i 5

< < < < < <

b3 K = = K b3 p=3 K b3

<+ \ < < \ < < \ <

: O 2] O E | 2 NOaynlk

b3 = b3 \ b3 = =

<+ \ H <+ < & < <+ \\\ <

< < < < < WIDE MUNTIN <

= \ = s OPTIONAL = P (OPTIONAL) \ =

< <+ T <+ <+ I <+ <+ T
— - — - — — i

N \\\ > | | > T e \ G > .|

. ' © . C©
2 8 3 — Al [F& % 4
= = = = = =

< ﬁ = < | <+ <+ — 1 ) | <+

A / 1 T F / 11 ] / 11

3 5/ 2 3 5o/ & S| 3 S| KP 2
& o <+ <+ o <+ <+ o A <

1l M s A M s D S M —1
S, / , S > / , 5 > J >

< /£ <+ <+ / [ < <+ / E <
. | Sy iy S 4 D Ll X 1"
5 1/4 V| 5 1/4 s 1/4 | 51/4 5 1/4 KL 51/4

H —_— + } 1 —_— * / —_——
5 1/4 14 MAX. 14 MAX. 51/4 5 1/4 | | 14 MAX. 14 MAX. 51/4

+—— 37 FW & OSW » — 37 FW & OSW — 5 1/4 | 14 MAX. 14 MAX. 5 1/4
37 FW & OSW ——
RAIL AT SILL RAIL AT SILL
(OPTIONAL) (OPTIONAL)

AN L -00

WINDOWS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

¥ DESIGN PRESSURE. )

wOutword:

Acting Inward: +58 psf

.

N

NOTE: Wsizes noted are
maximum sizes. Sizes smaller
in width & height are permitted.

SERIES 70/83 & 70/114
INSWING
WOOD DOORS

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

ANCHOR FASTENERS

——Steel Bracket PDF-FS-05
Screwed to the buck frame and
to the door frame with #10 x
1-3/4 in. flat head screws
Min. embedment is 1-1/2 in.

=

— Screwed through the door
frame to the buck frame with
#14 x 3 in. flat head screws.
Min. embedment is 1-1/2 in.

Drawing no.: MQF 70— 3in
Scale: Drawn by:
NONE E. Corbeil
Date drawn: Date revised:
07/28/97 03/15/00
File: Page:
Dadedin_2.dwg 2/19

OPTIONAL:  Directly screwed
through the frame and through
the masonry with 1/4" x 3
Tapcon. Embedment is 1-1/2 in.
OR: Using the steel bracket
PDF-FS-05 screwed to the
frame with 10 x 1-3/4 screw
& screwed to the masonry with
1/4" x 2 1/2" Tapcon screw.
Min. embedment is 1-1/2"

ENGINEER:

INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
corners and 14" max o/c.

SHIM SPACE:
1/4 IN. @ JAMBS, HEAD & SILL

HINGES SPACING

5RODUCT RENEWE
S €omplving i Fiorig
Bu.id,:ng (»\m?e Vith the Fiurig,
Aceeptance No 02-0/2 9.00
Expiration Bate 1ng 23,

2, 2007
By’
Miami Dag, =
Division € Product Control

Two pins hinges # 20-20 by
Simonswerk GmbH secured with
two #8 x 1-1/2" screws

MATERIAL:
BCS: Bichromated steel (open in)
SS: Stainless steel (open out)

QTY/ MAT. DIST. DIST.
SASH FROM  0/C
CORNER  MAX.

2SS 61/8 2T

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE

0ig dw gy O, 2080

PROVLE HITROL DIVISION : .j

SULDNG CODE COMPLIANCE OFFICE

sccurraner v, JO - 04 (793

400



A\ 4-H-00

5 1/4 14 MAX. 14 MAX. 14 MAX. 14 MAX.
—+ 1 t t t b t+=51/4
4 } k *
51/4 51/4
-Yo—-'\— |~
30 |° 2
<
= d =
< <
- | —— g T
. .ol
< X o
p= & = >
<+ \ <+ o~
'_ii— - (D
> >
< <
= =
< <
51/4 51/4
T !
51/4 5 1/4
— e o
> E / N . T
% X X (o)) SEEALSO % 7
p= / \ PAGE 11 p ©
* = | <
< > o)
< z %)
< <
i N
= 4 = T
<+ < z
s / s
- i \\ i W // -
> <+ >
< ~ <
s \ M / s
< @ <
X \\ // X
<+ E \ <
D |1
51/4 5 1/4
A
\ [ ( ! \ '
51/4——+ } } ! 151/4
14 MAX. 14 MAX. 14 MAX. 14 MAX
72 FW & OSW

MAX. PERI. [MAX. AREA
TYPE OF GLASS [in.] [sq.1L]

Gl: SAFETY PLUS GLASS, 5/32 cl an.

-.060 polyester resin-.010 PET film 312 26.3
-.060 polyester resin — 5/32 cl on.

G2; LAM|NATED GLASS, Saflex .090 312 230
1/4 ¢l an.+ 0.090 +1/4 cl. on. '

WP: 173/4 RAISED WOOD PANEL 151 1/8 8.83

VIEWED FROM THE INSIDE

CONFIGURATIONS:
X, XX, 0/X, 0/XX

WOOD: Mahogany

S 1ja_y o4 MAX 14 MAX. 14 MAX. 14 MAX.
-+ t t t t t t=51/4
— ! | \ | ! .
51/4 51/4
- ——"—¢
I EE 11 bx E
s k s
<+ / \ <+
/ \
<+ j <+
Vg \
= ) \ s
* \ 2 E
] NN N _—_{
= < ©
< < [e)]
b / =
<+ E \ ] W / <+
5 + j X
< ~ <
= \ ) / D=
<+ ® <+
N\ /
= H ( 1 |
51/4 51/4
T—
? i | | !
1 t * A * g 5 1/4
> /4 14 MAX. 14 MAX. 14 MAX. 14 MAX /
72 FW & OSW

Acting Inward: +58 psf
Acting Outward: -68 psf

NOTE: AW SizesToted ore

maximum sizes. Sizes smaller
in width & height are permitted.

DESIGN PRESSURE 1

—

WINDOWS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

ANCHOR FASTENERS

——Steel Bracket PDF-FS-05
Screwed to the buck frame and
to the door frome with §10 x
1-3/4 in. flat head screws
Min. embedment is 1-1/2 in.

—¢ Screwed through the door
frame to the buck frame with
#14 x 3 in. flat head screws.
Min. embedment is 1-1/2 in.

OPTIONAL: Directly screwed
through the frame and through
the masonry with 1/47 x 3
Tapcon. Embedment is 1-1/2 in.
OR: Using the steel bracket
PDF-FS-05 screwed to the
frome with #10 x 1-3/4 screw
& screwed to the masonry with
1/4" x 2 1/2" Tapcon screw.
Min. embedment is 1-1/2"

INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
corners and 14" max o/c.

SHIM SPACE:
1/4 IN. @ JAMBS, HEAD & SILL

HINGES SPACING

Two pins hinges # 20-20 by
Simonswerk GmbH secured with
two #8 x 1-1/2" screws
MATERIAL:

BCS: Bichromated steel (open in)
SS: Stainless steel (open out)

QTY/ MAT. DIST. DIST.

SASH FROM 0/C

CORNER  MAX.

2 Sss 61/8 2T
LEGEND:

FW. FRAME SIZE, WIDTH

FH: FRAME SIZE, HEIGHT
OSW. OVERALL SIZE, WIDTH
OSH: OVERALL SIZE, HEIGHT

SERIES 70/83 & 70/114
INSWING
WOOD DOORS

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.: MQF 70— 3in
Scale: Orawn by:
NONE E. Corbeil
Date drawn: Date revised:
07/28/97 03/15/00
File: Page:
Dade3in_3.dwg 3/19
ENGINEER:
PRODUCT RENEWED

as complying with the Flerida

Buiding Code

Acceptance No (Z-0/29 . 0.
Expiration Date &bmtg 22,227

By

e,

Miami Dade $roduct Control

Division

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE

WIROL DIVISION

BUILDING CODE COMPLIANCE OFFICE

\CCEPTANCE NO.

0o-0413-93

Bu-ov



VIEWED FROM THE INSIDE

CONFIGURATIONS:
X, XX, 0/X, 0/XX

WOOD: Mahogany

LEGEND:

FW: FRAME SIZE, WIDTH
FH: FRAME SIZE, HEIGHT
OSW: OVERALL SIZE, WIDTH
OSH: OVERALL SIZE, HEIGH

T

MAX. PERI. [MAX. AREA
TYPE OF GLASS n] | [saft]

G1: SAFETY PLUS GLASS, 5/32 ¢l an.

-.060 polyester resin—.010 PET film 312 26.3
-.060 polyester resin ~ 5/32 ¢l an.

G2; LAMINATED GLASS, Soflex 090 319 230
1/4 ¢l an.+ 0.090 +1/4 cl. on. :
WP: 173/4 RAISED WOOD PANEL 151 1/8 8.83

WINDOWS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274

DANIA, FL 33004

A H-1-00

> " DESION PRESSURE )| INSWING
Acting Inward: +38 psf WOOD DOORS
51/4 14 MAX. 14 MAX. 51/4 5 1/4 14 MAX. 14 MAX. 5 1/4 5 1/4 14 MAX. 14 MAX. 51/4 Acting Outward: -68 psf i
+ + * + ¢ + 4 + ’ + + 4 + ‘- + Ny —, Wt METRO DADE COUNTY
L) { [ | ) { [ | 1 { [ | NOTE. Al sizes nW IMPACT RESISTANT
1 ————y + ————— +— — maximum sizes. Sizes smaller A
51/4 1 51/4 51/4 | 5 1/4 51/4 51/4 in width & height are permitted. PA201, PA202 & PA203
x N X1 0 % x| Xt [ x N X 5 - '
< < < < < < Drawing no.: MQF 70— 3in
< » < < » < < » < ANCHOR FASTENERS ‘
< \ <+ <+ \ <+ < \ < ——Steel Bracket POF-FS-05 Scale: Drawn by: .
] | ] | — | | Screwed to the buck frame and NONE E. Corbell
g y 9 9, . g 3 K 5 to the door frame with 10 x Date drawn: Date revised:
< < < < < < 1-3/4 in. flat head screws 07/28/97 03/15/00
= = = = = = Min. embedment is 1-1/2 in. — -
< ! < < N I < < N < File: Page: 4/19
i i = = \ i = - \ - ~— Screwed through the door Dadedin_4.dwg
T \ 1T . T \ -1 T -t frame to the buck frame with
< b b b b = #14 x 3 in. flat head screws. NEER:
< g < OPTIONAL < < WIDE MUNTIN < i embecment 1& 1172 i ENGI
(OPTIONAL) N
il + T <+ ¥ T < <+ T | OPTIONAL: Directly screwed
P \ DS A e i — - T W T ] g - L~ [ through the frame and through
N N X Q 5 % £ 5 > © | the masonry with /47 %3
< < < \ < < < Tapcon. Embedment is 1-1/2 in.
= = = 2 2 = OR:  Using the steel bracket
¢ hd Al A A T / ! il PDF-FS-035 screwed to the
J :T / - pa— =T f / —_ . ! Vi H—s frame with #10 x 1-3/4 screw
zé : é % : \ % % :, ’ é &/screwed }o the masonry with
<+ ~+ \ i 1/4" x 2 1/2" Tapcon screw.
\ ”
= > / = = > / \ = = > )y = Min. embedment is 1-1/2
< < < < < <
i 0 Al b 0 - - © - INSTALLATION FASTENERS: PRODUCT RENEWED
T M y —— - M Z — +—— N p ===t . . _ in f as cemplying with the Florids
. . . ’ 9 o v Spacing is 5-1/4 in. from Buiding Coae
% y, % % 7 % o5 z corners and 14" max o/c. Acceptance Noo2-p) 1 9. {0
> | = = = = 1 = SHIM SPACE: Expiratiop Date £y yyery 224 7
+ = + i <+ ) i |- 1/4 . © JAMBS, HEAD & SLL || 5
b AU ‘ e T Miami Dade Product Control
51/4 \ 5 1/4 5 1/4 /‘ 5 1/4 5 1/4 / 51/4 Division el
' ﬁ 1 - \ i T ' / N HINGES SPACING
51/4 14 MAX. 14 MAX. 51/4 5 1/4 14 MAX. 14 MAX 51/4 ! Two pins hinges # 20-20 by
' ' ' ' Simonswerk GmbH secured with || aperovip As CoMPLYING wiTH THE
—— 37 FW & OSW . —— 37 FW & OSW — 51/4 14 MAX. 14 MAX. 5 1/4 two #8 x 1-1/27 screws SOUTH FLORIDA BUILDING CODE
\ MATERIAL: DA T 7
——37 FW & OSW ——— BCS: Bichromated steel {open in) . 044
RAIL AT SILL SS: Stainless steel (open out) F,{_\'OIU; .[;TROL — J
(OPTIONAL) RAIL AT SILL QTY/ MAT.  DIST. D‘/5T~ 3UiLING CODE COMPLIANCE OFFICE
TIONA SASH FROM  0/C ] conioronce s 00~ 0
(OP 0 l—) CORNER MAX. CCEPT ANt NO. 00 04/'? ‘3
2 SS  61/8 27"

SERIES 70/83 & 70/114

A

4H-00




Attt wniwe

Using the steel bracket
PDF-FS-05 screwed to the
frame w/§10 x 1-3/4 screw &
screwed to the masonry with
:/4 x 2 1/2" Tapcon ‘screw.
in. embedment is 1-1/2

E 1A 1+ -

HE-431

CONTINUOUS
1X4PT

WOOD SHIM

1/4" Shim space

+44-1/4" Shim space

4 7/8" 4

31/4"  15/8

)

<Z/A

4 7/8"
1 5/8 31/4"
ol ® —
HE-407 HE - 431 '
\ [ i am)
| o
WOOD PANEL 1" C ~ WOOD PANEL WOOD PANEL «|. Y/
- nuk 3/4 - N - = A
S S S Lo
| ' | ©)
& & td
3/ 3/ 3/ S8 22 T /e
L PANEL PANEL_|
WOTH WIDTH

FOR DOORS UP T0O 96" FRAME HEIGHT @

6 7/8"
15/8"  35/8"  15/8
HE-448
INACTIVE SD
HE-401

|

— 2 3/4" —

GE-074

3/4" 2 1/27 "1 3/47

Directly screwed through
the frame to the
masonry with 1/4" x 3
Tapcon “screw.  Minimum
embedment is 1-1/2 in.

1.3/4" 21/2" 3/4) 3/4" 2 1/2" 3/8" 2 1/2" 3/4"
DAYLIGHT
4-0PENING
~~-DOOR WIDTH DOOR WIDTH—
OVERALL WIDTH & FRAME WIDTH OVERALL WIDTH & FRAME WIDTH——
@ IMPACT RESISTANT GLASS HARDWARE SLOT (STD "EUROGROOVE")
NOTES: Gl: SAFETY PLUS GLASS; 5/32 cl. an., .080 polyester

INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
corners & 14" mox o/c.

SHIM SPACE:

1/4 IN. @ JAMBS, HEAD & SILL

@ 1/4" Shim space 44~

—— Steel Bracket PDF-FS-05
Screwed to the buck frame &
to the door frame with

10 x 1-3/4 in. F.H. screws
in. embedment is 1-1/2".

2 X 4PT
¥W00D BUCK

— Screwed through
the door frame to the
buck frome with 414 x
J in. flat heod screws.
Minimum embedment
is 1-1/2 in.

WINDOWS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83 & 70/114
INSWING
WOOD DOORS

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.:. MQF 70— 3in
Scale: Orawn by:
NONE E. Corbell
Date drawn: Date revised:
07/28/97 03/15/00
File: Page:
Dade3in_5.dwg 5/19
ENGINEER:
PRODUCT RENEWED

as compiving with the Florida
Buiding Code

Acceptance Nog2 /29 .46
Expiration Date g prvas 22, 200)

By
Miami Dade Product Control
Division

o

@ ADJUSTABLE HINGE 20-20

resin, 010 PET film, .060 polyester resin, 5/32 cl. an,

G2: LAMINATED GLASS; 1/4" ¢l. an,,

0.090" SAFLEX PVB, 1/4" cl. on.
EPDM MIDDLE GASKET L5150
EPDM EXTERIOR GASKET WD111

@ 1/4" x 27 CF GALVANIZED STEEL PLATE REINFORCEMENT NO. AI0650

ATTACHED W/ 1 1/2° NO 8 WOOD SCREWS @ 16" 0/C

HANDLE

@ ASTRAGAL WOOD PROFILE HE-448, ATTACHED TO THE INACTIVE SASH

WITH 48 X 1-1/12" SCREWS SPACED @ 14" 0/C (MIN. EMBEDMENT: 3/4")

“B=CLEAR "SPECTREM 2" SILICONE SEALANT AT SHOWN INTERFACES

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE
DATE

BY __f4
PRGOLC NTROL DIVIS!ION
SUILD-KG CODE COMPLIANCE OFFICE

seoepiince v, J0-04-(3-0%




Q Directly screwed through
g the frame to_the masonry
i with 1/4" x 3" Tapcon screw.

Min. embedment is 1-1/2 in.

CONTINUOUS
1 X 4PT

WOO0D SHIM

O

5/4

OPTIONAL
RAIL

—qScrewed through the door
frame to the buck frame with
14 x 3 in. flat head screws.
in. embedment is 1-1/2 in.

2 X 4 PT WOOD BUCK

P

WINDOWS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83 & 70/114
INSWING
WOOD DOORS

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.: MQF 70— 3in

Scale: Orawn by:
NONE E. Corbell
Date drawn: Date revised:
07/28/97 03/15/00

File: Page:
Dadedin_6.dwg 6/1 9

ENGINEER:

PRODUCT EENEWED
&8 Complving with the Fioridy

Buidi:lg i
Accgglt:a ¢ Nop2-0/2%. /0
Expiration Date Mi‘w’ 7
By
Miam{ Dade Prod

e uct
Division Control

corners & 14" mox o/c.
SHIM SPACE: (2 EPDM MIDDLE GASKET L5150

1/4 IN. @ JAMBS, HEAD & SILL [ (3) EPDM EXTERIOR GASKET WD11 ~—B= CLEAR "SPECTREM 2" SILICONE SEALANT AT SHOWN INTERFACES

HARDWARE SLOT (STD "EUROGROOVE")
ALUMINUM RAINGUARD FS15S
DECORATIVE WOOD MOULDING

1 . ==
N 3 ——— re 1 z
t ' 2 X 4 PT WOOD BUCK o <+
= gy | 7 £ 2 3
5 Lo 7 o~ i) Lt [l ™
& 59 % : >~ & . T I -
= I 2 3/4 ~ —__ Steel Bracket PDF-FS-05 p 9
= <+ Screwed to the buck frome & ™~ ~ :
X 0™ : - ~
o - : to the door frame with <+ o
l NG 10 x 1-3/4 in. F.H. screws —
1 . B in. embedment is 1-1/2", é’D o~
= HE-401 N
= <+
g t N
= : i GE-074
&S © > ©
o ¥ ~ [l ce-o074
= - | //7/3 gIZ wood screw § Ps
=z N 5 N at 4" from internal >
Lo -
S i corner & 14" o/c ,§ -{
L*_ 11/8" SASH BAR: J M
. L Screwed at both ends - —
5 © 1 to the sash stile with N
e N . z @ #14 2 1/27 wood screw L
= <8 - GE-074
= A — x
& ~ 8
x + 9 GE-074
o
S =
—
* 52 3 0 i
=5 N PR YU B N
12y L:ﬁ- — o~
(&7
= I & @ o — @ '~
= 3 > . S 4 N S >
2 & S & 5
T o~ a i w ~N
4 < J : T
= = E © |
< e r = ~ -
o as z < — I p
o © v 2
) ax ™~ ) ) < . Iﬁl ~
S M Using the steel bracket & 2 y a
o o~ PDF-FS-05 screwed to the ~ L g o~
] frame w/#10 x 1-3/4 screw & i = 4
~ K screwed to the mosonry with $ ———
1/4 x 2 1/2" Tapcon screw. f—
/ L in. embedment is 1-1/2 : -
£ § / :
B a CONTINUOUS
. v 1 X 4PT f e
WOOD SHIM IMPACT RESISTANT GLASS
N .
> ¢ NOTES: Gl: SAFETY PLUS GLASS; 5/32 cl. on,, .060 polyester  (g)
INSTALLATION FASTENERS: resin, 010 PET film, .060 polyester resin, 5/32 ¢l. on. @
Spocing is 5_1/4 in. from G2: L’AM|NATED GLASS, 1. 4" ¢l an.,
' 0.090" SAFLEX PVB, 1/4" ¢l an. 14

T-SHAPE STEE| REINFORCEMENT no. AT2928
SCREWED AT 9 1

MAX. o/c WITH 2x #8

WOOD SCREW. EMBEDMENT IS 7/8".

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE

DATE 0@00

3Y . £74 >
PRODUG DIVISICN
UGS CoDL COMPLUIANGE OQFFICE

WCOGTTAL NO. (QQ: Q‘fiiﬁ)

GOHTROL




1/4” Shim

WINDOWS ot
OF EUROPE AND
THE AMERICAS
+ 1855 GRIFFIN ROAD, SUITE A-274
~ . DANIA, FL 33004
M 3" #12 wood screw
: N at 4 from internal
< corner & 14" ofc SERIES 70/83 & 70/114
o @ INSWING
" WOOD DOORS
~ E-074
M G—‘—‘i;r METRO DADE COUNTY
o e Z > IMPACT RESISTANT
! PA201, PA202 & PA203
r HO—¥ > 4 :
171 GE-064 = o~ N
T . .
z 2o , . 0 Drawing no.: MQF 70— 3in
o [o Wt my <t N
@ S l : > - Scale: Drown by:
g ﬁ X : ™~ _ NONE E. Corbeil
o 7 @ Q Date drawn: Date revised:
> o~ D D 11/10/97 03/15/00
< 4 o~ o~ File: Page:
© Dade3in_7.dwg 7/1 9
w ~
[} '] H :
=z A ’ _ - - ENGINEER:
O ): o : :
S g
= oy [ )
CE-064 1 Eg £g ]
<t ~ ('/C-’ a ﬁ a a
> e CONTINUOUS e CONTINUOUS g
=+ 1 X 4PT ~+ 1 X 4PT
n > WOOD SHIM > WOOD SHIM
~
fp]
o Using the steel bracket Directly screwed through
PDF-FS-05 screwed to the the frame to_the masonry PRODBUCT RENEWED
k frame w/#10 x 1-3/4 screw & with 1/4" x 3" Tapcon screw. as complying with the Figrida
© screwed to the masonry with Min. embedment is 1-1/2 in. Buldiug Code
> 1/4" x 2 1/27 Tapcon ‘screw. Acceptance No£2-0(2¢, lo_
in. embedment is 1-1/2 Expiration Datefebrveny £ 2007
N p
By
Miami Dade Product Coutrol
s NOTES: Division
INSTALLATION FASTENERS:
7 Spacing is 5=1/4 in. from
5 Z corners & 14" mox o/c. APPROVED AS COMPLYING WITH THE
2 SHIM SPACE: SOUTH FLORIDA BUILDING CODE
Z 1/4 IN. @ JAMBS, HEAD & SILL DiT
—— Steel Bracket PDF-FS-05 8
Screwed to the buck frame & » " Tl S
2 X 4 PT WOOD BUCK to the door frame with @ IMPACT RESISTANT GLASS @ HARDWARE SLOT (STD "EUROGROOVE™) | PROGUSHLTHTROL DIVISION
ﬂ‘!o x 1=3/4 in. FH. screws G1: SAFETY PLUS GLASS; 5/32 cl. an., .060 polyester @ WOODEN WATERDRIP ZE—130 BUILDING CODE COMPLIANCE OFFICE
in. embedment is 1-1/2". resin, 010 PET film, .060 polyester resin, 5/32 cl. an. ) sectpTanee o 00 - 04 13:0)
G2: LAMINATED GLASS; 1/4” cl. an., @ ALUMINUM ANGLE (3/4"x 3/4"x 1/8")
0.090" SAFLEX PVB, 1/4” cl. an. 3. CLEAR "SPECTREM 2" SILICONE
@ EPDM MIDDLE GASKET L5150 SEALANT AT SHOWN INTERFACES




< OCRNAKCEN CRERT\ETRRXNRETY,

CONTINUOUS
1 X 4PT

WOOD SHIM

Using the steel bracket
PDF-FS-05 screwed to the
frame w/§10 x 1-3/4 screw &
screwed to the masonry with
1/4" x 2.1/2" Tapcon ‘screw.

in. embedment is 1-1/2

-

@

Q)

4 3/8"——1
HE-408 \ — [ HE-403

Directly screwed through
the frome to the =~
masonry with 1/4” x 3

Tapcon “screw.

Minimum

embedment is 1-1/2 in.

NOTES:

INSTALLATION FASTENERS:
Spacing is 5-1/4 in. from
corners & 14" max o/c.

SHIM SPACE:

1/4 IN. @ JAMBS, HEAD & SILL

—— Steel Bracket PDF-FS-05
Screwed to the buck frame &
to the door frame with

#10 x 1-3/4 in. F.H. screws

f\/.Min‘ embedment is 1-1/2".

e = WA
a
JE}HH*'* WOOD PANEL 11" 1;! 2 3/4" IZr WOOD PANEL WOOD PANEL 1] %%3” ;
h F——1
— - . " o _/ r— LL_E )
: © © = L _E==3 1 L/
oo : : ==
:] (&) (o]
|
" e 3/4 27/8" 3/4 3/4 3 3/4"
—1/4" Shim space
’L}\inAf)NTEHL }\illﬁbNTEHL 1/4" Shim space —44-
2 X 4PT
. WOOD BUCK
H-1/4 i
-1/4" Shim space @ FOR DOORS UP TO 96° FRAME HEIGHT
6 1/8" 9 3/8” 6 1/8"
31/4” . 27/8 2 7/8 3 5/8" 2 7/8" 2 7/8" 31/4"
HE‘”‘\[ HE=403 ACTIVE I INACTIVE HE=431
[ HE-454¢ = HE-403 HE-403
N = (E= ey mx|  — Screwed through
k / § the door frame to the
L.__] ~ - - -« -« = buck frame with #14 x
F==a | 5 S 5 5 L E==13 = 3 in. fiot head screws.
T l 8' L(b'_; 8' ,_(b'_, ——— @ ikglnllrfr}nz ?rTbedment
3/4" 3 3/4” 1 3/4" C
- - 1t 1 " ” - +—t- 1/4" Shim space 4
1 3/4 5 3/4" 54 §/8 33/4 378 3 3/4  3/a / P
’LDAYLIGHT
+-DOOR WDTH——e T OPENNGTE  _  550R wipmHok
OVERALL WIDTH & FRAME WDTH OVERALL WIDTH & FRAME WIDTH—

WINDOWS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274

DANIA, FL 33004

SERIES 70/83 & 70/114
INSWING
WOOD DOORS

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Orawing no.: MQF 70— 3in
Scale: Drawn by:
NONE S. Marcotte
Date drawn: Date revised:
07/28/97 03/15/00
File: Page:
Dade3in_8.dwg 8/19

ENGINEER:

PRODUCT RENEWED

as complying wizh the Flop;
Buiding Code i erid
Acceptance No 03-012.9. (0

Expiration Darawzuoj
By_s

W!ia i Dade Product Coatrol
Division

@ IMPACT RESISTANT GLASS

G1: SAFETY PLUS GLASS; 5/32 cl. an., .060 polyester
resin, 010 PET film, .060 polyester resin, 5/32 ¢l. an.

G2: LAMINATED GLASS; 1/47 ¢l. an.,
0.090" SAFLEX PVB, 1/4 cl. an.

EPDM MIDDLE GASKET L5150

3

@ ADJUSTABLE HINGE 2D-20

EPDM EXTERIOR GASKET WD111

HARDWARE SLOT (STD "EUROGROOVE")

(B) 1/4" x 2" CF GALVANIZED STEEL PLATE REINFORCEMENT NO. AI0650
ATTACHED W/ 1 1/2” NO 8 WOOD SCREWS @ 167 0/C

HANDLE

ASTRAGAL WOOD PROFILE HE-448, ATTACHED TO THE INACTIVE SASH

WITH #8 X 1-1/12" SCREWS SPACED © 14" 0/C (MIN. EMBEDMENT: 3/4)

TB= CLEAR "SPECTREM 2" SILICONE SEALANT AT SHOWN INTERFACES

APFROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE

D Tk
3y QL
PROLUC,
BUILDING CCDE COMPLIANGE OFFICE
ACCEPTARCE NO. 0- 0 .




2 c| 388l
o~ <t M o~ LoD .m\lu/ / <)
D .8 | V25|39 o = z 8
e S o 32 - R E -
WW ™~ o w _Aln - m an wloe % v x o _ Ew SN
22 | 8 0Q Cu% || o5 2 °hR] Nz = 2 = 8
ST | RZQ wuly |Sle Jo o Eoor e 2 o Sz
[%2] [=X"] mrr m W (@] (] x m M o m,.! n ] = = > .mm_ !
2138 & . o 'a) < < z =£ o - = = =0
okt 22 | =93 °5a . .~] o %z _r_.m 3 z 3 -3
zlz: £ |w=0 g2~ 1] ¢ co|l ol & £% 9¢ 2 S % £ w o
Sk g° L W mwm c L anW 1w 2z & Jh n\mm = o =
o = W = N ZIC N c w =233 ] &= C.mu
o o = < 2| os]| Bl 2 S92 2\\E < ez =\e =
5 | @ I R SN B G SRR SIUINREE
= » 515 |20l = cifgs IS g5 NE53 53
S13 |8 [Eof w Fs838 Z=3 $3=zzZ3¢
SIOVAYILNI NMOHS LY LNYIVIS 3NOOMIS 2 W3WLO3dS, W30 <= 11O L3INSYO YOW3LX3 Wid3 15 % QY ‘SEWYE © NI /1
8/( Sl 05157 13%S¥9 3700IW Wad3 30YdS WHS
IN3NG3BN3  M3¥OS QOOM 1% 8F XZ HLM 2/0 "XVA .6 W P v/l 'BNd XIS 0600 /0 XOW p| B SIBUI0D
1Y Q3M3¥0S B8ZGTLY OV INIW3IDHONIZY T33LS IdvHS-1 () “w P y/l \_mmio QILYNIRYT 129 wol] “ul y/1=G i buioods
ONICINON GOOM 3AILY¥0030 € U0 P 26/ usas ysehiod ggp ‘SUINALSYS NOLLVTIVLSNI
SIS QUYNONIVY AONIKNTY (B) o - aAd Q10 1iSa) 8183710¢ 090 'SIION o
P ¢¢/S SSY1Q SNd AL34vS 19 o
(,3h004908N3, QIS) 1075 IYYMA¥VH () SSY19 INVISISIY LoVl (1) o
w
Z/1-1 SI juawpagquws u €
.;m__bm wodbl 3w e doon I8 GOOM Ld v X7 2
Yym  Auuosow 8y} 0} pamaids . _ .
B onens p/co| x Qlf/h ouny £ 1dp x| BT s weupqus u : — .,
w—t Ou Uw;w._uw mOlmquQ& m WDODZ_._.ZOU r:;) wEo: xUDD wﬂgou wEo: \l/\_‘ ~
19190JG23)S 3y} buisn g 100p 8y} ybnosy) pamatog p— m i
g N N
e — 0 |
© 2 &
~ ] W o N x —_
" 27 : S . Y 3
- O —
o — .7/¢ T < & ﬁ :, g
— — —
H x —
< MW mw © > s &
: @ v L 0 © e M
© = : 5 ™
~ I N S
'e} . = ~ o
R
o - ~
— T N m M J__T__m
] | =5
- A
74 i OD
~ " N
. /ST > . =
b .V — - / <
vy " - S L 3
WWNOILJO © N = ~
o i M 5 + ™ =
3 w L1 39Vd ¥ 2
Mt 0OS7v 338 e M o
y£0-39 S . © =
o < o
O S 8
$0-39 u‘ - w@ 3
<+ o - ;
~ Ma10s poom 7/1 7 vIf ~ 3, N
" UM 3ps 4sos ayy o) B N ﬁ
i . SPUs Yj0Qq )D Pama.dg - M —
© 3 \ © '8 HSYS . A
ORI R - . :
o~ - <+ w © =
9/0 y| B JBUIOD — =
pusaldi woy 4 10 A\B\\ - > &
M310S pOOM Z|f ¢ R < " w
<t w
N T
M _ S X
vo-3 | !
I
O S
© . $0-39 h §
M~ . M
M
o~ : =
: ® , |5
H QO 2
s @] O N —
- N z ~ m Q T
- N /€21 T 5 3
- 7 P B A
< e I = : =
S| B " i3 L 2
M o % = i r,._.
~ : : X
+ 3
q -—

. I
g
Ul 7/1~| SI JuaWwpaqua U m

'M310s uoddd| ¢ X /| upm
Kiuosbw ayy 0] dwoy sy
ybnouyy pamalas Apdauq

Az_zm GOOM

Id ¥ X |

SNONNILNOD
® awoy) »ong

\

"2/ 1= St Juawpaqua “uj
SM3JOS "H4 -
U)s awpyy Joop sy} 0)

uy/c-1 x 0l

3} 0} pamaldg

G0-S4~30d 13%0Ig 383 ——

// 0N8 QOOM Ld ¥ X 2




2 3/4"

GE-074 . ol 4" from internd
N corner & 147 o/c
N
. —_—t
7o)
e L~
- oo ) GE-074
n 2
<
. B ik @ @ © N
© ! ~ —_—t)
~N _ i
N “_-FFL’LF g @ v S
~ }\ ? . : ©
¢
ol s < N
N -
0 g e o GE-074 _ "
L] -:q- 6 E .CD ' .:l Ij
‘ < S ki -1 k Q S -
J}'rs ~ " w 7o) I
“ —" - ’ - o) ¥
11 ce-064 }I . +— . T :
E g - ™~ ~ ~ @/ ~
n - " '- M
£ ) :
3 -4 ~ z -
ST @ SET
n | B [Vs) I :
) Lt
z A | o x T —— e
a.
g 55 €8 7/ — £ 8 7
= &a s a
@064 L. L @ CONTINUOUS N @ CONTINUOUS
~+ : .
=l [ N & X 4PT ' 1 X 4P
i “ > WOOD SHM @ > HOOD SHIM
54
. . Using the steel bracket .
N POF~FS-05 screwed to the Direclly screwed through
~ frome w/f10 x 1-3/4 screw & the frome to_the masonry
" screwed to the masonry wilh vith 1/4" x 3" Tapcon screw.
1/4" x 2.1/2" Topcon ‘screw. Min. embedment is 1-1/2 in.
o, A— /l . @ in. embedment is 1-1/2"
s 2 2l
s I
o w)
-] — ES NOTES:
: - © INSTALLATION FASTENERS:
. | @O N —— Steel Brockel PDF-FS-05 Spacing is 5-1/4 in. from
EO - Screwed to the buck frome & L i Jc
= O ~ e lo the door frome with corners mox a/c.
u G 10 x 1-3/4 in. FH. screws SHIM SPACE:
., -00"‘“'—.:) i in. embedment is 1-1/2", 1/4 IN. 6 JAMBS, HEAD & SILL
> o $—§2 3/47 .
J g x i o b .
3 ol (D IMPACT RESISTANT c%ss y (5) HARDWARE SLOT (STD "EUROGROOVE®)
Gl: SAFETY PLUS GLASS; 5/32 dl. an., .060 polyester -
2 D N resin, 010 PET fim, .060 polyester resin, 5/35 cfon. () WOODEN WATERORP ZE_ 130 . .
. 2 X 4 PT WOOD BUCK G2 LAMNATED GLASS; 1/4"°dl. on., @2 ALUMINUM ANGLE (3/4°x 3/4°x 1/8")
0.090" SAFLEX PVB, 1/4" cl. an. CLEAR "SPECTREM 2" SILICONE

3" 112 wood screw

WINDOWS
& ANOPY 4O
e AMEFeCAS

1855 GRIFFIN ROAD, SUITE A-274
OANIA, FL 33004

SERIES 70/83 & 70/114
INSWING
WOOD DOORS

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Orawing no.: MQF70-—3in

Scale: Drawn by:
NONE E. Corbelil
Oate drawn: Date revised:
07/28/97 07/10/98
File: Page:
Dade3in_10.dwd - 10/19

ENGINEER:
REVIEWED & APPROVED BY:

PRODUCT RENEWED
accomplying with the Florida
Buiding Code

Azceptance Nog o[ 24,10

Expiration Date Ggpnuany 24 2047

By%ﬂ{ﬂc /&1"’"“"’
Miami Dade Product Controi

ddixision

APPROVED AS COMPLYING WITH THE
SQUTH FLORIDA BUILDING CODE

EPDM MIDOLE GASKET L5150

SCELLANT AT SHOWN INTERFACES

BUILD:NG  CODE COMPLIANGCE OFFICE

41303

ACCIPTANCE NO. 0o-0




HORIZONTAL MULLION

I ' It
11 | it Transom
i | ] Frame Sill

§

B N

]

S

3" wood screw #12 at 4" from
internal corner and 14" o/c.

Minimum embedment is 1-1/2".

Right Frame Stile

VERTICAL MULLION

Left Frame Stile

NOTES:

FH= FRAME HEIGHT
FW= FRAME WIDTH

In standard applications,
sidelites and transoms are
screwed at the factory,

2 in special cases, job site
installation could be done.

I___”L:Vm/m/z oty 21 [__J In this case, holes are
= pre—drilled at the factory

and screws are included.

WINDOWS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83 & 70/114
INSWING
WOOD DOORS

MULLION
SIDE BY SIDE INSTALLATION

-

J )
@\m\ SSARVIRRAAAY tgben b .

—— e — — Wood = Mahogany
» T\ o
M > % >
! | (39}
II _JI N Sidelite Frame Door Frame
| - —_— —————
S L :
I [__J l - <r‘
Door 5/8
Frame Header Q - E
.
— S70/83
\ i €066
\
\ P G A | S70/114
\\\\ \\\ Transom Frame INSWING O
4"] L L S LR U A P L% . <
l | I s |
il
| | | E 8 r —_—t %
il H >
- - < =
| { = A
E j A\ \ *r— — ]
| _S70/83 YO i
\\\ INSV\}NG ®®®® Door Frame o
A\ L _S70/114
INSWING (CEACICS -— _E
/i Ji pa—
b :d-
| o MAX. Fw= 72" ® _ &= CLEAR "SPECTREM 2" SILICONE SEALANT AT SHOWN INTERFACES

METRO DADE COUNTY
PA201, PA202 & PA203

Drawing no.: MQF 70— 3in
Scale: Orawn by:
NONE S. Marcotte

Date drawn: Date revised:

11,/26/98 03/15/00
File: Page:
Coup3in_1.dwg 1‘|/1 9
ENGINEER:

PRODUCT RENEWED

as eomplying with the Fiorida

Briding Code

Acceptatice Nopg 2-0129 - /0

030128 [0

Expiratj D‘“WL’” 4
By M’*“ﬁ

Miandi Dade Product Control

Division

APEROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE

BULDRG CODE COMPLIANGE OFFICE

acezpiance v, OO~ 04 (303




2 3/4"
11/2" 2 3/4" WINDOWS ®
1 1/2" 2 3/4“ /CD OF EUROPE AND
/@ THE AMERICAS
CE-074| .
< 1855 GRIFFIN ROAD, SUITE A-274
GE-074 N ~ DANIA, FL 33004
<+ —4
° : 5
~+ T !
> ~ | . N SERIES 70/83
- @% E N Oy : © Al 1> INSWING
: oY g ~ - M ™~ WOOD DOORS
< : : s
- > = &, — 7 SR = — MULLION
L 4 B ~ ak L g \g SIDE BY SIDE INSTALLATION
— 4 - ~_ 1 T
~ | oy d 1= < N\ b " METRO DADE COUNTY
N 2 . S == '_L.QLF_ RS S PA201, PA202 & PA203
— = = > - \}i{ 9 - . .
. —~_ . ~ Orawing no.: MQF 70— 3in
13 © ? N © =
GE-074 > S L N A . Scale: Drawn by:
_ x % _ £ g 1/3=1 S. Marcotte
_ ) - ' Date drawn: Date revised:
GE-074 Gt-074 07,/22/97 03,/15,/00
8 3/4”" - File: Page:
" " / " " " 2 3/4 Coup3din_2.dwg 12/1 9
1 5/8 1 7/8 '1 3/4 I1 7/8 '1 5/8 15/16" 23/4" 1 1/2" 23/4"
@ ENGINEER:
) @ 17/8"13/4" 1 7/8" 17/8°13/4717/8" 1 5/8
(o]
~ .
" ~
- ~
:{ @ CP 55" —
” = | HE-412 | 13/16"
o~ i
& PRODUCT RENEWED
TR ST &S by wit .
é g g { Buft?::gé::ﬁ i the Floriga
] ; " " " , \ = Acceptance No 62-0/24.
/4" 21/2" T21/4" T 21/2" /4 o g ?’\ - E‘P"“Zgul"*;cﬁmqwfgiw
' & W%
" . , Mi
1 7/8 |1 3/4 11 7/8 l Cb Div‘;sm?adfl’mductComm
/4" 2 1/2" 11/8 2" /4] /4 27 11/8 21/2° 3/4]
7 1/8" 7 1/8"
APPROVED AS COMPLYING WITH THF
: \ SCUTH FLORIDA BUILDING CODE
{ DATY
- = (1) IMPACT RESISTANT GLASS (5) HARDWARE SLOT (STD. "EUROGROOVE") Y7
N S - Gl: SAFETY PLUS GLASS; 5/32 cl. an., .060 polyester FROOLE ,
5 5 @ resin, 010 PET film, .060 polyester resin, 5/32 cl. an. ALUMINUM RAINGUARD no. F315S KUDBLLLERTROL DIVISION
o 1 G2: LAMINATED GLASS; 1 4" ¢l on. RATIVE WOOD MOULDIN BUILTING COGE COMPLIANCE OFFICE
L [
@ 0.090" SAFLEX PVB, 1/4" ¢l. an. @ DECORA g . sceeetance vo, 00 - 04 130
7T e v EPOM MIDDLE GASKET L5150 T-SHAPE STEEL REINFORCEMENT no. AT2528 SCREWED AT 9" MAX.
] 5 1/2" 7] (4)#12-3° W00D SCREW AT 4" FROM INTERNAL CORNER o/c. WIH 2x 8 xI” WOOD SCREW. EMBEDMENT 15 7/8
& 14" o/c; MINIMUM EMBEDMENT IS 1 1/2". 8= CLEAR "SPECTREM 2" SILICONE SCELLANT AT SHOWN INTERFACES




=074
= |« ]
J
. @ g 45 GE-074 oo,
« <+ I
. _ ¥s) ~N
o o : W o 7 — 5 1
N N . N 5 < N E . £
- N © - 3 0 - Ll © . %
A ) ) " ) J <
| l,f/@ Ty < o - °® | |2
- (] - 2]
s 1 N O : o}
gg . 1 s ? T, . g : N 8
hing W . -
~ - ] T = - IRV 8 —+
© N 4 - 4 o ! 4 3
é 2 3/ S -~ Tt~ o é 3 T 2 -
o 1 |» - \ URVEIN A4 * 4 -
X [ ' — e —
= 2 " o é 3 -+ - . % &
] ~N - H
" ¥ % " J) - 0
B - £ | z, © L 23/4"— | ‘ é <
GE-074 } ~ § © —2 3/p" — )
: . o~ ] —e > 2 I "
) © —2 3/4"— ™ {4 . — =
o o
N e > " W <
g @ 0F = N
T 13/16" GE-074
31/16"  1.3/4" 3 1516
27/8° 17/8" 13/4" 31/16° ‘ 13/4°17/8" . 27/8
HE-410 | HE-411
. . O— -3 G
R @
- -« !
5 o % 3 @ HE—133 HE—411 ) HE=410 HE-432
e 1 & HE-403 4 < T HE-403
: 1 | R S = = ¥ mmdpnnn y
/47 33/16° | 33/16" 374 X =z > v
- 1 i S
S & e ] : ™~ W
27/8° 17/8" 1 3/4" 1 7/8" 2 7/8" ) | J l |
. | . | ||
3/ 33/4 11785 3356 S/af 3/4° 335160 1178 3 3/4 /4
9 9/16" 9 9/16"

wiNDOWS

OF AR A0
THI ADNCAS

1835 GRIFFIN ROAD, SUTE A-274
DANIA, FL 33004

SERIES 70/114
INSWING
WOOD DOORS

MULLION
SIDE BY SIDE INSTALLATION

METRO DADE COUNTY
PA201, PA202 & PA203

Orawing no.: MQF70-3in

Scale: Orawn by:
1/3=1 S. Marcotte
Oate drawn: Date revised:
07/22/97 07/22/98
File: Page:
Colp3in_3.dwg 13/19

ENGINEER:

REVIEWED & APPROVEL BY:

PRODUCT RENEWED

88 compiviag with the Florida
Buiding Coge

Accepiance NopZ-gi24. 10

Expiratios Dute M;w7

By‘%a..&m
Mizmf Dade Product Contr

S ol
Division

@ IMPACT RESISTANT GLASS :
Gl: SAFETY PLUS GLASS; 5/32 d. on., .060 olyester
resin, 010 PET fim, .060 olyester resn, 5/38 d. on.
G2 LAMINATED GLASS; 1/4° dl. an.,
0.090° SAFLEX PVB, 1/4” d. an.

@ (2) EPDM MIDDLE GASKET L5150

@ #12-3" WOOD SCREW AT 4° FROM INTERNAL CORNER

(5) HARDWARE SLOT (STD "EUROGROOVE")
(8) ALUMINUM RAINGUARD no. FSI15S

I oecoranve wooo nouLDING

(9 1-SHAPE STEEL ROFORGEMENT no. AT2528 SCREWED AT "
MAX. o/c. WTH 2c 8 x1° WOOD SCREW. EMBEOMENT IS 7/6"]

3= CLEAR "SPECTREN 2" SUCONE SCELLANT ‘AT SHOWN
INTERFACES.

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE

rY .
PROGHLY CONTROL DIViSION
SUHDING CoDE COMPLIANCE OFFICE

scasriance No, Q0= 04 04;_—3/?'0

& 14" o/c. NINIMUM EMBEDMENT IS 1 1/2".




—

-
[qV]
™~
ﬂ © J —0.375

L0375 (3) WD111

EPDM Exterior
Gasket

Ls

NOTE: As seen when

8 (1)ze-130

compressed be
astragal & active sash

between

(6) AI0650

0.925

1.476

h |

14

=

FS15S Aluminum Rainguard

NOTE: WEEPHOLES @ 4-3/4 in.
o/c, 5/32 in. x 1 in.

0.236 , . 0.315

] T T o

T 1  —(0.118
o ﬂ —0.197
> H - 0.197
| ~——0.236

l—1.024——+

GE-064 Glazing Bead for 1 in.
Glass Thickness or for Wood Panel

OF EUROPE ANO
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83 & 70/114
INSWING
WOOD DDORS

ACCESSORIES & HARDWARE

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

7
> / Steel 0.236 0.315
¥ o . i 0.118 — —
N Wooden Waterdrip = é Reinforcement 1t T 0.984 Drowing no.. MQF 70— 3in
in 4 o
o / ; < 1 — - 0.118 Scale: Drawn by:
- / Yield Point of /) S N o Date drawn: Date revised:
0.116-4 $—0.726 1 % reinforcements: 7777/ S — 0197 08,/07,/98 03/15/00
. / 47,000 psi ~—0.236 File: Page: 14/19
@ Wood Moulding / 0.748 — 3in_A&H.dwg
0.250 ' L;LS\SS——"
1.772 SRR ANO765/301 ENGINEER:
1.267 Aluminum Angle GE-074 Glazing Bead for 1/2 in.
[ Glass Thickness
\ (#) REFERING TO CROSS SECTIONS DRAWINGS OF THIS SERIE
© PART #| QTY. DESCRIPTION MATERIAL DIMENSION LOCATION
B Q Lf depends on| Briigman, Push—in middle gasket |EPOM 3/4 in. x 1/4 in. Continuous groove around entire perimeter
o © - Sash perimeter| no. L3150 of ACTIVE SASH. Continuous groove on
~ — ltl\(l)EArg%VEOétAOST*I rail and hinged stile of PROBUCT RENEES
a8 complying with the Flurida
L] _— Lf depends on| Atlantech, Push—in exterior bulb |EPOM 3/8 in. x 3/8 in. ACTIVE & INACTIVE SASH: Along hinged stiles iu‘d'"g‘fu"c
Sash perimeter| gasket WD111 ASTRAGAL PROFILE: Along the Erofile, Expiince N00L=0(22. 10
1/4 between astragal and active sas piraliop Bate ehapy 34, 2007
. 1 per inactive | Additional Reinforcement AI0650 |Galvanized Steel|2.0 in. x .250 in. Located in a notch cut in the locking By [
" sash AlSI C1020, lenght: 12 in. less stile of the IN-ACTIVE sash. Miami Dade Product Control
N /6" 0/C Cold drawn than inactive sash height Division

322

.

NN

Tj
NN AN

125

|
(03/16"/

hole

l2x #8 x 17
F \wood screw
L screwed @
8 max o/c

LS WA (P WY

Y
\

T

vl

PRI
A) AJ Al T

A

<y

AT2528 Steel Reinforcement

1/8"[/ 1” \ E60XX

1

Rainguard no. FS15S

Extruded Al T5

1.476 in. x 1.378 in.

Located on top of frame sill

1

MQ, Wooden Waterdrip no. ZE-130

Mahogany Wood

1.299 in. x 0.726 in.

Located on bottom rail exterior side

1

Angle no. AN0765/301

Aluminum T5

3/4 x 3/4 x 1/8 in. t.

Located on top of bottom rail

1 per mullion

Decorative continuous moulding

Mahogany wood

1-3/4 in. x 1-1/2 in.

Nailed along the entire length of the mullian;
placed on top of the T-shape reinforcement

@O @ © ©

1 per mullion

Welded T-Shape reinforcement

Galvanized steel

1-1/4 in. x 1-1/8 in.

Screwed along the entire tength of the mullian.

no. AT2528 AISI C1020 at 9" max. o/c with 2x #8 x1” wood screw.
Cold drawn Embedment is 7/8".
GE-064 |1 per glass | Glazing bead ({for 1 in. gloss Mahogany Wood |3/4 in. x 1 in. Nailed through the sash frame ot the glass
edge thickness or for wood poneB or wood panel perimeter
GE-074 |1 per glass | Glozing bead (for 1/2 in. glass |Mahogany Wood }3/4 in. x 1-1/2 in.  [Nailed through the sash frame at the glass
edge thickness) perimeter

APPFOVED AS COMPLYING WITH THE
SOUTH TLORIDA BUILDING CODE

Day p oo
Fitivg (g el DIVISION jfr )
GO DUDD CUMPLIANCE  OFFTCE
NP RO O_O_I.O_‘fi.__:) 03




I

@

o~

i ‘ .
| T TTTTTT] ,
: } Q
E— S
e =]

> E | L ey 7] S~ :

z e e 4 \\ #
= AN

2.C66
Ol |~
/\J‘T—‘r“T#FTZ‘: IS

©0 @ o

A n

i 0

" ~N

olE

Q /Y——.—"' EEEALTANAN TR b

(1 2D-20 Adjustable Hinge

NOTE: REFERED T0 AS@ IN THE CROSS

SECTIONS DRAWINGS OF THIS SERIE

o088 .. . 1181 |
10501 . 0.591 |
I i 1 hillips,
M : —  #jox 1-3/4"
o] i
= i i —wcod screw
0 | — T o window
Odﬁ‘ﬁ S ol rame
™~
~ 3
3 \ N
)
Do) ! -
S
Ne— L
5 ; Phillips,
i 5 #10x 1-3/4"
: weed screw
| ‘¢ buck frame

P

|

¢ —

' ' W T
0.197—7_’0.352—j 0.481 —-0.348

@ PDF-FS-05 Installaticn Bracket

WINDOWS

OF EURCPE AMD
THE ANERICAS

1835 GRIFFIN ROAD, SUITE A-274
DANIA, FL 320C4

SERIES 70/83 & 70/114
WOOD CASEMENT WINDOW
& WOOD DOORS

ACCESSORIES & HARDWARE

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Crawing no.: ]\/[(:,570/?\;1
Scale: Orcwn by:
1=1 Z. Fortin
Date drawn: Dcie revised:
08/07/98 0315 0o
File: Pcge:
70_A&H.dwg | 15/]9

ENGINEER:

PRODUCT RENEWED

as complying with the Florida
Buiding Code
Acceptance Nog 07-0124. (0

Expiratigg Date MZ%Z«-?
Bym
Miamf Dade Product Controf

Division

HINGES SPACING APPROVED AS COMPLYING WITH THE
PART #/  QTV. DESCRIPTION MATERIAL DIMENSICN LOCATION SOUTH FLORIDA BUILDING CODE
Qry: DIST. %g B 1 Refer to Simons Werk Gmgh, |Bichromated Steel 3.346 in. x 2.538 in|Refer to Table 1
' Table 1 Adjustable hinges open in) x 2.324 in,
no. 20-20 tainless ?teel
o 2 o 1 i e T I 1 ouug e gummce o
per H. Wood screw alvanized stee x 1-1/2 in. crewed through the hinge to the sas . O-N413-0
9 1/8" 4 27" hinge stie. scceptance no. YO- 04 (300
TABLE 1 3 Depends on | PROTOL, Installation  |Galvanized steel |3.101 in. x 1181 in. |5~1/4 in. from comers & 14 in. max. o/c,
frame size |Bracket no. PDF-FS-05 x 0.187in. t. between framing member & buck frame.




.. ()}
~ C c OO —
N =2 p I B B AN " KN
o < |E83E:F 72559 T : £9)
s leeg 3z | Sl tsls A - =o
| wa 3 8he | |Eee2 Fql | SERY.sy
57|89 n wusg | S5 [0 | g= 3 S ) ¢ =9
gy 321 39 = =®¥a | = z£ 3 E £ S 2 Q|
me Z mWG O < o Pe o =1 = 35 LY
Oy =32 z oo .. .. z WE & £ a e 2
Slzz =2 nO £ 9« . ; col|l ©l & &l 8 o = 5 S 3
e L3l WZ X Feg o | 4| & R\ @ £ 337
st g | WE S 522 5| wd] 3w B2C & 3 g Ay
O RWO s <« o Zic o ke) L EEET R mm o = )
v wo 4 o c1..21°X| 7| 2 EE£5% ] & = TL e
2 0wz 3 |29|oo|..c]l O ¥93588 JE: =N~ g NP
S5 [ & w
=]
|
|
"JAVY4 3HL NO A31NNOW "JAVYHS4 3HL NO A3LNNOW
H3Ad33N V OLNI ONIMDOOT HOVA HY3d33IN ¥V OLNI ONIMOOT HOV3
‘WILSAS MO0 LNIOd N331dI4 i ‘WILSAS XOOT LNIOd XIS
LN3IA JAILOV m IN3IA IAILOVNI
P
I d »] m
mﬂu |
b
(pajunow apis 8|pboJysD)
"3|1}S 423uUdd UO | 'HSYS 3AILOVNI U0 v/N |33)s pajpwolyy—ig ajpuoy adky JarsT '00Y3S | 6
£ioa Aow ysps ayy Jo woypoq ayy woyy jybisy sy 58 (pajunow m.uot:mv
“B)1}S J8JUSd U0 | 'HSYS 3AILDY U0 v/N s|puby uo spuadaq spuoy adky Jaas ‘0DY3S ! Q
*J3UJ0D W0}}0q ¢-0-00-290¥2—9 ou
uo | pup Jauiod doy uo | ‘HSYS JAILOVNI U0 v/N [39}s pajowoly)-ig JauJod UOISSIWSUDI| ‘003 rA i
*JauI0d ¢-0-00-65¥LC—9 ou
Wwo0}}0q Uo | pudb Jausod doy uo | ‘HSYS JAILDY U0 v/N j99)S pajpwoly)—ig JauJod UOISSIWSUD)] ‘00Y34 VA 9
¢30—80-9.6¥C—9 ou
9)1}S J3Jusd UO | ‘HSVS JAILOVNI U0 v/N [p8}s pajpwolyn-ig wsjuoydaw bupdoy ‘00Y3S | S
£-0-00-6S¥/LC—9 OU
"3|1}s 49JUad U0 | 'HSYS JAILOV U0 v/N [98}S pajpbwoly)—Ig wsiuoydsw wod buntoo ‘00Y34 ! 14
“IDJ wo}}0q uo | pup o doy uo | HSYS 3AILOVNI ¢-0-00-6679¢—9 ou
Ios woyjoq uo | puo Jips doy uo | HSVS JALLJY v/N [29}S pajowoly)—ig 110Q Yym WD UoIsusIXs ‘0Jy34 ¥ g
341} J2}U3d Uo |
pup ‘§ipJ woyoq uo | ‘fps doy uo | HSYS JALLIVNI )
"3|1}S J8juad uo | ¢-0-00-05900-8 "ou
puo ‘ips woyjoq uo | ‘ios doy uo | HSYS JALLOV v/N |993}s pajpowolyn—ig }10g JnOYJIM WID UCISU3IX3 ‘0JY34 9 [4
iDJ W0)30q ud ¢ puDp |ioJ do} uo ¢ HSYS 3AILOVNI
"3|1}S Jajuad uo § pup
‘Ios woyjoq uo ¢ ‘bJ doy U0 ¢ HSYS 3ALLOY v/N p3)s pajowoyd—1g | £-0-00-225LZ~9 "ou Jadeay ‘00434 ¥4 |
NOILVYO01 NOISNINIC IVII3LVYA NOILdI40S3d ‘ALD # 14vd




HORIZONTAL
MEMBER

JA

VERTICAL
MEMBER

\

GLUED FACES @

MULTI-FORKS ASSEMBLY

NOTE: ALL FRAME CORNERS

&Frame Stile

/

ELEVATION
Inside View

/

7 ~

/ \
i

\

\
\
Sash Bar

\-Scsh Bar

S

SASH BARS ASSEMBLY

NOTE: SQUARE CUT AND SCREWED

WINDOWS ®

OF EURCPE AND
THE ANERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83 & 70/114
WOOD WINDOW & DOORS
CORNER CONSTRUCTION

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Orawing nouMQF 70— L\r\

Scale: Drawn by
NONE E. Fortin

Date drawn: Date revised:
08/07/98 |a3-1% —0a

File: Page:
70 _corner.dwg E ’7/19

ENGINEER:

PRODYUCT RENEWED

a3 complying with the Florida
Buiding Code

Agceptance NooZ-0(2Q. /0
Expiration Bate 5, Ay 11&7
By

Miami Dade Product Control
Division

PART #

QTY.

DESCRIPTION MATERIAL DIMENSION LOCATION

“|As needed| Resibais 222 Glue

At shown interfaces.
no. 30222-01 type 1 N/A
exterior wood glue

2 per
muntin bar

F.H. Wood screw Galvanized steel #14 x 2-1/2 in. |Through the frcme stile to

the center of the sash bar.

APFROVED AS COMPLYING WITH THE

SOUTH FLORIDA BUILDING CODE
DATE m{ 06 00

sv Y Ma_»@%,
P00 € T_CONTROL DIVISION

BUILDING CCDD COMPLIANCE OFFICE
AGCEFTANCE NO. 00- 041303




WINDOWS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

.630 .445 1.536 .630 .590 1.536
K ~ SERIES 70/83 & 70/114
/09 B | /=039 + /=039 ||| he/=-039 INSWING WOOD DOORS
245
;:'s 1111 E— o GLAZING METHOD
}\‘ y METRO DADE COUNTY
g b«’ § ! IMPACT RESISTANT
N i PA201, PA202 & PA203
3 il 5 ) g
4 »® $ Ce] 2 .
% ‘ ‘s Lz : % L ] O Drawing no.: MQF 70— 3in
] &
H GE-074 P GE-074 Scale: Drawn by:
H \ T J_j P e ——r——r———— . 1.5=1 E. Fortin
o / ~ Date drawn: Date revised:
> % 11,/10/98 03/15/00
File: Page:
@ @ Jin_glaze 18/19
ENGINEER:
PET Film
WITH SAFETY PLUS GLASS WITH LAMINATED GLASS
NOTE: The PET Film used in each laminated glass
lite extends 1-1/2 in. beyond the edge of
the glass around the entire perimeter of
) PRODUCT RENEWED
each lite. ;’}Zf?::g?m\;g with the Floridy
g Coac
Acceptance M
Expiruti(;:eﬂaot%fm ;;%Lub7
PART # QTY. DESCRIPTION MATERIAL DIMENSION LOCATION a},' 4
i)ivai.l:'ﬂ ade Product Controj
1
1 1 Impact resistant 5/32 in. Annealed glass & 0.551 in. Glass bite|3/16 in. from glass rebate o
TABLE 2: "Safety Plus™ glass 0.060 in. Polyester resin, both Refer to Table 2
sides of 0.10 in. PET Film.
TYPE OF GLASS MAX. PERI. MAX. AREA 2 1 Impact resistant 1/4 in. Annedled glass both sides J0.551 in. Glass bite[3/16 in. from glass rebate | APPROVED AS COMPLYING WITH THE
oy [in.] [sq.ft.] Laminated glass of 0.090 in. Saflex interlayer. Refer to Table 2 SOUTH FLORIDA BUILDING CODE
: ASS, cl an.
-.060 polyester resin-.010 PET film 312 26.3 3 Depends on | SENCO, nails Galvanized steel 1-1/4 in. 2 m from corners &
-.060 polyester resin = 5/32 ¢l an. frame size. gauge 16 10 in. o/c.
62; LAMINATED GLASS, Saflex .090 4 As needed. |Dow Corning 995 Silicone N/A At shown interfaces. G434 0020 COMPLINGE. OFFIC
1/4 ¢l on.+ 0.090 +1/4 cl. on. 312 250 Silicone Structural ‘("”"‘1*“"";0 éo..ho/zg/}.oE
Adhesive HCeFTANGE NG _EC >
GE-074 | 1 per glass [Glazing bead (for Mahogany wood 3/4 in. x 1-1/2 in.| Nailed through sash frame
edge. 1/2 in. glass thickness) at the glass perimeter




NOTE:

The perimeter of each solid Mahogany
wood panel is trimmed to an overall

thickness of 1 in.

1.772

\|

WINDOWS

OF EUROPE AND
THE AMERICAS

1855 GRIFFIN ROAD, SUITE A-274
DANIA, FL 33004

SERIES 70/83 & 70/114
INSWING WOOD DOORS

GLAZING METHOD

METRO DADE COUNTY
IMPACT RESISTANT
PA201, PA202 & PA203

Drawing no.: MQF 70— 3in
Scale: Drawn by:
1.5=1 E. Fortin
— Date drawn: Date revised:
.630 .684 1.063 08/07/98 03/15/00
File: Page:
+/-.039]] 1i+/-.039 3in_panel.dwg 1 9/1 9
ENGINEER:
°
b3
]
— ¥ |
8 % )
M 2
) ’ — ﬁz\\
K
: GE-064
- f< : \
~
el RS
. @ PRODUCT RENEWED
as comnplying with the Florida
Buiding Cade
\(:> Acceptance No O7-0124: (0
Expiration Datmzuﬂ
By
M_ia Dade Product Controf
Bivision
PART # | QTY. DESCRIPTION MATERIAL DIMENSION LOCATION
: 1 1 MQ, Raised Wood Parel Mahogany Wood 1-3/4 in. thick. |3/16 in. from glass rebate| APFROVED AS COMFLYING WITH THE
TABLE 3: gany Refe{ to Table 3 / k SOUTH FLORIDA BUILDING CODE
DAT
TYPE OF GLASS MAX. PERI. | MAX. AREA 2 Depends on | SENCO, Nails Galvanized steel 1-1/4 in. 2 in. from corners & .
[in.] [sq.ft.] frame size. gauge 16 10 in. o/c. > T
peonucd_CoMTROL DIVISION
WP: 1"3/4 RAISED WOOD PANEL 151 1/8 8.83 3 As needed. | Dow Corning 995 Silicone N/A At shown interfaces. 3UND NG CODE COMPLIANGE OFFICE
Silicone Structural Adhesive seegrtance no 00~ 041303
GE-064 1 per panel | MQ, Glazing bead (for 1 in. glass | Mahogany wood 3/4 in. x 1/2 in. |Nailed through sash frame at
edge. thickness or for wood panel) glass/wood panel perimeter




